FE Exam Review (Statistics)
1. Find the sample standard deviation of 5, 2, 6, 3.
a. 0.80                    b.   1.83                    c.   1.58                    d.  3.26

2. Find the sample variance of 5, 2, 6, 3.

a. 1.35                      b.   3.33                    c.   2.5                      d.   1.26

3. If the values  5, 2, 6, 3 represent the entire population, find the standard deviation.

a. 0.80                    b.   1.83                    c.  1.58                     d. 3.26

Use the data in the following table for questions 4-6.


Number of Occurrences

Value



______________________________________



5



.89

10 .942

45 .955

20 .996

13 1.092

10 1.15

7



1.24

4. What is the sample mean?

a. .953                    b.   .955                    c.  1.010                   d.   1.04

5. What is the sample standard deviation?

a. .091                    b.   .098                    c.   .198                    d.   .310

6. What is the sample variance?
a. .008                    b.   .039                    c.   .103                    d.   .127

Use the following information for problems 7 and 8. Thermometers from a factory are designed to register 
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C at the freezing point of water. However, testing shows that some thermometers will register the freezing point of water above or below the 
[image: image2.wmf]o

0

 C mark. The average of 100 tested thermometers shows that water freezes at 
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 C with a standard deviation of 
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7. What is the probability that a randomly selected thermometer will register 
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 C between 
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 C?
a. .8413                    b.   .1587                    c.   .3173                    d.   .6827

8. What is the probability that a randomly selected thermometer will register 
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a. .0540                    b.   .9772                    c.   .0228                    d.   .0455

9. Air Force ejection seats are designed for a weight between 140-211 lbs. If the average woman weighs 143 lbs with a standard deviation of 29 lbs, what percentage of women have a weight between 140-211 lbs?

a. 49%                        b.   57%                        c.   53%                        d.   43%
10. The maximum heart rate for manual snow shoveling was measured for a sample of 10 people under similar conditions. The average maximum heart rate for the sample was 
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175 beats per minute, and the sample standard deviation for this same group was s = 15 beats per minute. Given this data, construct a 95% confidence interval for the mean.
a. 
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11. One wishes to estimate the mean (  of a population from a sample of size n drawn from a population. For example, the sample mean is 
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, and the sample standard deviation is s. The probable accuracy of the estimate improves with increases in
a. (                    b.   n                    c.   s                    d.   ( + s
12. Simplify 
[image: image16.wmf](

)

[

]

(

)

!

1

!

!

1

2

-

+

n

n

n


a. 
[image: image17.wmf]2

n


b. 
[image: image18.wmf])

1

(

-

n

n


c. 
[image: image19.wmf])

1

(

+

n


d. 
[image: image20.wmf]2

)

1

(

+

n

n


13. The expression 
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14. Two cards are drawn without replacement from a standard deck of 52 cards. Given that an ace was drawn on the first card, what is the probability the second card drawn is also an ace. A standard deck contains 4 aces.
a. 1/13                   b.   1/26                    c.   1/17                     d.   4/51

15. The English alphabet contains 26 letters. How many 3-letter codes may be formed from the English alphabet if no repetitions are allowed?
a. 
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16. How many times out of 100 attempts are you likely to select a red ball first and a black ball second from a bucket of balls containing 40 red balls, 25 black balls, and 35 white balls? (The first ball is to be reinserted into the bucket.)
a. 14                      b.   12                       c.   10                        d.   8
17. Let 
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be the null hypothesis. Analysis of a data sample suggests 
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 should be rejected. If 
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is later found to be true, then rejecting 
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would be considered

a. The correct result

b. A Type-I error

c. A Type-II error

d. A Type III error
Refer to the table for questions 18 through 19. The data represents the blood groups and Rh types of 100 people selected ramdomly.
	
	Group A
	Group B
	Group AB
	Group O

	Rh+
	35
	8
	4
	39

	Rh-
	5
	2
	1
	6


18. Compute the probability that a randomly selected person has blood group A or is Rh-.
a. 0.54                    b.   0.49                    c.   0.40                    d.   0.09

19. Compute the probability that a randomly selected person does not have blood group B and is not Rh+.

a. 0.88                   b.   0.12                    c.   0.10                     d.   0.0 8
20. A potential pool of jurors consists of 10 men and 15 women. What is the probability that a man is selected first, and a woman is selected second, and another woman is selected third without replacement?

a. .134                 b.   .098                 c.   1.63                  d.   .152
21. An unprepared student makes random guesses for the ten true-false questions on a quiz. Find the probability that there is at least one correct answer.
a. 1/10               b.   1/1024              c.   9/10                  d. 1023/1024

22. A machine has 11 identical components which function independently. The probability that a component will fail is 0.2. The machine will stop working if more than three components fail. Find the probability that the machine will be working.

a. 0.162                b.   0.949                   c.   0.839                     d.   0.111

23. If the linear correlation coefficient for two variables is equal to -.96, then we can conclude that:

a. There is a possible linear relationship between the two variables and the slope of the regression line is positive.

b. The slope of the regression line for the two variables is -.96.

c. There is a possible linear relationship between the two variables and the slope of the regression line is negative.

d. There is a causal relationship between the two variables and the slope of the regression line is negative.

24. The point of highest frequency in a distribution would most accurately be described as:
a. arithmetic mean of the distribution.    
c. median of the distribution.

b. mode of the distribution.                    
d. variance of the distribution.

25. How many teams of 4 can be formed from 35 people?
a. About  25,000
b.     about 2,000,000        c.     about  50,000      d.    about 200,000

26. In statistics, the standard deviation measures

a. A standard distance.
c. a normal distance
b. Dispersion

d. central tendency
27. If the null hypothesis for a population mean is 
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28. A dice is a cube with six sides. Each side is labeled uniquely with the numbers from one to six. If two dice are tossed together, what is the probability that the top sides of the two dice show a total sum of seven or ten?
a. 1/4

c. 1/8
b. 1/12

d. 1/6

29. If three students work on a certain math problem, the probability of each individual student successfully answering the question is: 0.5 for student A; 0.4 for student B; and 0.3 for student C. What is the probability that none of the students answer the question correctly?

a. 0.12

c. 0.32

b. 0.25

d. 0.21 
30. A component uses three different fasteners. Fastener A has a probability of .1 of being defective; fastener B has a probability of .2 of being defective; fastener C has a probability of .25 of being defective. What is the probability that exactly one part is defective?

a. 0.375


c.  0.95

b. 0.55


d.  0.05
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